Service instruction

Softstarter spare part

PSEZ210...PSE370-1

Replace the SCR’s

SCR‘s

1x

[




Safety information

A Important information: A qualified electrician must carry out installation, commissioning and service on the product by
following installation standards and regulations. The product user hazardous voltage that can cause death or serious injury. Always
disconnect power before working on equipment. Do not touch terminals when voltage is applied, output terminals can have live
voltage even when the device is in off position. The product should only be used within the specified ratings. Check that you have the
correct product in regards to mains voltage, supply voltage and rated product data.

Viktig information: Installation, idrifttagning och service av denna produkt skall endast utféras av behorig el-personal.
Sakerhets- och installationsnormer skall féljas. Produkten anvander livsfarlig spanning, innan arbete utférs ska alltid spanningen
franskiljas. Ror inga anslutningar nar produkten ar spanningssatt, anslutningarna ar spanningssatta aven nar produkten ar i franlage.
Produkten skall endast anvandas inom dess specifierade data, kontrollera den gentemot huvudspéanning, kontrollspdnning och 6vriga
markdata.

A Wichtige Information: Installation, Inbetriebnahme und Service dieses Produktes darf nur durch qualifiziertes Fachpersonal
unter Beachtung der nachfolgenden Hinweise und Erklarungen erfolgen. Die in dem Gerat vorhandenen Spannungen kdnnen

bei Berlihrung zu tédlichen oder ernsthaften Verletzungen fiihren. Vor Arbeiten an dem Gerit ist grundsétzlich die Versorgung
abzuschalten. Bei Anliegen der Versorgungsspannung diirfen keine Klemmen berihrt werden, an den Ausgangsklemmen kann

auch bei ausgeschaltetem Gerat eine gefahrliche Spannung anliegen. Der Einsatz des Gerates darf nur innerhalb der spezifizierten
Bedingungen erfolgen. Uberpriifen Sie vor Einsatz, dass die Gerdetype beziiglich Versorgungsspannung, Schaltspannung und
sonstiger Daten den Anforderungen entspricht.

A Informazioni importanti: L'installazione, la messa in servizio e la manutenzione di questo prodotto devono essere effettuate
solo da un elettricista qualificato, seguendo fedelmente le disposizioni in materia di installazione e sicurezza. Il prodotto utilizza
tensioni pericolose che possono causare gravi danni o morte. Scollegare sempre I'alimentazione prima di accedere all'apparecchio.
Non toccare mai i terminali quando I'apparecchio & sotto tensione: i terminali di uscita sono in tensione anche quando I'apparecchio
€ SPENTO. Prima dell’istallazione; verificare di aver scelto il prodotto corretto specialmente in termini di tensione di alimentazione,
principale ed ausiliaria, ma piu in generale per tutte le caratteristiche tecniche. Il prodotto va utilizzato solo nelle condizioni
specificate.

A E i @Bsﬁp%{‘ TR E 7 S NE & F}JLFU{.;[I’F"T“’ by [%ﬁl ;f“:*{f‘—‘?yi tﬂm E N N

FP S s FPE ﬂ.ﬁjﬁéf‘em‘? AL ETYRL, RIETES T R 53}%@%‘%}4 >t Ff#{ T’;ﬁ I fﬁﬁjq‘[”aﬂ 1
Ur T

JJ { T A S 1 ’
}szﬂjmmsaFTr TR E e Ff[! i;;w:ﬁ[ﬁp ﬁltﬂH

ol g - a
ffg R e e e

Informations importantes: Un électricien qualifié doit éxecuter I'installation, la mise en service et I'entretien de ce produit en
suivant les normes d’installation et les régles de sécurité. Le produit utilise une tension dangereuse qui peut causer la mort ou des
blessures graves. Toujours débrancher I'alimentation avant de travailler sur I'équipement. Ne teuchez pas les prises de raccordements
lorsgqu’une tension est appliquée, les prises de raccordements de sortie auront toujours une tension résiduelle, méme si I'appareil est
sur OFF. Le produit doit étre seulement utilisé dans les calibres spécifiées. Vérifiez que vous avez le bon produit en ce qui concerne la
tension du secteur, la tension d’alimentation nominale et les données produits.

A BaxHasn MH(bOpMaLIMﬂ: Yc TaHOBKQ, BBOZ, B 3KCMJlyaTaLMio N 06CNYyKMBaHWUE JAaHHOIO 060pyA0BaHNSA LOMKHbI
NPON3BOANTLCA KBANUULNPOBAHHBIM MNEPCOHANOM, CNeLnanbHO AOMNYLEHHbIM K TaKMM paboTaM, B COOTBETCBUU C AENCTBYIOLWMM
3aKOHOAATENbCTBOM U TPEGOBAHUAMU NMPEAbABASEMbIMU K O6CNY>KUBAHUIO 3/IEKTPOYCTAHOBOK U o6ecrneyeHunto 6e30MnacHoOCTu.

B n3genun ncnonb3yeTcs onacHoe Afis YefloBeKa HanpsiXeHMe, KOTOPOE MOXET NPMBECTU K CMePTU NN Cepbe3HbIM TPaBMaM.
Bcerga oTkAo4anTe HanpshxeHne nepes HayvanoM nobbix paboT Ha o60pyaoBaHUW. He foTparMBanTech A0 KIEMM N TOKOBEAYLUNX
yacTen Korga npuoXeHo HanpsayeHme. Ha BbIXOA4HbIX KNeMMax MOXeT 6bITb HanpseHne AaXke ecnmn Nnpmbop BbikAoyeH. Mpubop
OOMKEH NCMONb30BaTbCA CTPOro B COOTBETCTBUM C 3asiBNIEHHbIMU NapaMeTpamu. MpoBepbTe, YTo NpM60pP Nogo6paH NPaBUILHO U
HOMMWHasbHble NapaMeTPbl HAXOAATCS B COOTBETCTBUMN C CUNOBbLIM HAMNPSIXKEHMEM N HANPSXEHNEM YNPABNIEHUS.

e gl Tagd Alall 5 et 5 a8 Jlael Alll il i el usigdl ,i@mhﬁw;#:\g&

i) 2Ll gy 5 Auadlall Al oS0 a0 5 am sl ki) L) JYA (pe g5 36aY |

O Galae dea N ¢3S Lasie Jam i) GILI GealY | Sleall e Jandl s O Ll jacae Joadl Ll 850 ) Ala¥) &gaal 35 8 5lad dga a3diies 33 (e g ol 13
235105 Al il Haad anliall Sleadl o @l pean oo Lails alls | 5aaas a8 (e 4l Lo ae 4slodind Cang Slead) 138 gl jaian daad ey a3 dly Ladiad (s il Gal ki 7 i
Lokl saasall Al

2 | Service instruction - Replace the SCR's | 1SFC132378M0201



Service instruction - Replace the SCR’s

CAUTION Service and repair should be performed by authorized
personnel only. Note that unauthorized repair affects safety
Always make sure that the power supply is switched and warranty.

off before carrying out installation or maintenance on
the Softstarter.

‘ WARNING General
N Manuals available on:
A When performing maintenance on the Softstarter, an new.abb.com/low-voltage/products/softstarters

antistatic strap must be used. The antistatic strap should be
worn on the wrist, and be connected to an electrical ground,
to prevent electrostatic discharge (ESD) damage to the
Softstarter.

(s ! -
TR
" HH i

9 PSE250...PSE370
d Hexagon no.8

0

|

| W M10 x 25
. 9?

|

(%)

PSE210
Tx 40
M8 x 40

PSE250...PSE370
Hexagon no.8
M10 x 25

1SFC132378M0201 | Service instruction - Replace the SCR’s | 3



Service instruction - Replace the SCR’s

11

Use 1SFA899012R1001 Kit
for changing SCR’s

o
~
@
=)
'el
N
L
(%]
o

M5 x 18

12 Nm)

PSE250...PSE370
M10 x 25
PSE210

Tx40 (8N
M8 x 40

lexagon no.8 (

N

LNLL

®
@

16

1SFC132378M0201

| Service instruction - Replace the SCR’s |



Service instruction - Replace the SCR’s

| Service instruction - Replace the SCR’s |

1SFC132378M0201



ABB AB, Control Products
SE-72161 Vasteras
Sweden

E-mail: sales@se.abb.com

new.abb.com/low-voltage/products/softstarters

© Copyright 2019 ABB. All rights reserved.
Specifications subject to change without notice.

o
=
o
I\

-
S
=)
2
Qa
[7]
w
<
=
[
2

—
o
Y
o
>
@©
~
™
1N
™
—
O
L
@
-
w
x
O
0

)
<
=
o
153
K}
Q
)
x
.
c

o
gut
o

=}
c
=3
7]

c
o

2

>
I
)
0



